
qm=; of]hgf ljj/)f /sd

1  ;'Gb/f df=lj= sf] nflu hUuf vl/b -yk_ ?= 13,00,000.−

2  yf]Kn'~ dfg]*F+*F l;+rfO{ of]hgf lgdf{)f ?= 5,00,000.−

3  ;fljs pn]{gL j*F g+= 5 / 6 ;*s lgdf{{)F -(nfg / d]l;g/L jfn ;d]t_ ?= 5,00,000.−

4  ly~^f]n b]lv bf]~^f]n, u+u^f]n, nfdf^f]n ;Dd uf]/]^f] af^f] lgdf{)F ?= 10,00,000.−

5 l;k ljsf; tyf cfo cfh{g tflnd -l;nfO{ a'gfO{ ;d]t_ ?= 4,00,000.−

6  df}/L kfng, df}/L #f/ Pj+ cGo ;fdflu|df cg'bfg ?= 3,00,000.−

7  ;fljs pn]{gL j*f g+= 5, 6, 3 / 4 df vfg]kfgLsf] wf/fsf] gfln lgdf{)f ?= 4,00,000.−

8

 tfbL 1 sf] ;a} ljBfnox?df  LED TV  vl/b -ljBfnox?df Audio Vedio sIff 

;+rfng_ ?= 1,00,000.−

9  u+uf b]jL cf=lj= sf] d}bfg lgdf{)F -jfndf tf/ hfnL lgdf{)f_ ?= 3,00,000.−

10  pn]{gL :jf:Yo rf}sLdf :jf:Yo k|lzIf)f sfo{qmd ?= 2,00,000.−

hDdf /sd ?= 50,00,000.−

j*F g+= 2

qm=; of]hgf lj/)f /sd

1  j*F g+= 2 leqsf ljleGg df]^/af^f]x? ;/;kmfO{ Pj+= :t/pGgtL ?= 7,00,000.−

2  l;Dn] *F+*Fufp+ ;*s :t/ pGgtL ?= 3,00,000.−

3  afx|lj;] l;dv]t vfg]kfgL of]hgf lgdf{)f ?= 2,00,000.−

j*F g+= 1 

cf=j= 2078.079 sf] nflu  ufpkflnsfsf] j*fut l;ln~ tkm{sf]  of]hgf÷sfo{qmdx?sf] lj:t[t ljj/)f 



4  vfg]kfgL tyf l;+rfO{sf] nflu kfO{k vl/b ?= 8,00,000.−

5  af)FL ufp+ uf]n] ^F]n vfg]kfgL of]hgf lgdf{)f ?= 2,00,000.−

6  %fkyf]s %f]/t]g dfg] lgdf{)F ?= 6,00,000.−

7  hgo'$, hgcfGbf]ng zlxb :d[lt rf}tf/f lgdf{)F ?= 3,00,000.−

8  lrnfpg] dfg] *F+*F ;f+:s[lts ejg lgdf{)F ?= 5,00,000.−

9  Knfl:^s ^g]n vl/b tyf ljt/)f ?= 2,00,000.−

10  /fn'sf elnjn u|f)*df sDkfp)* tyf tf/ hfnL ?= 10,00,000.−

11  lrnfpg] cf=lj= hUuf vl/b ?= 2,00,000.−

hDdf /sd ?= 50,00,000.−

7 j*F g+= 3

qm=;  of]hgf lj/)f /sd

1 uf]& *F+*F af^ z];dfg tdf~sf] k;n x'+b} le/s'gf hfg] ;*s (nfg tyf kSsL 

gfln lgdf{)f ?= 9,00,000.−

2  sf]O{/fnfr]t  k}bn l;+l( lgdf{)F ?= 1,00,000.−

3  k|e'*F+*F d/)F kf^L lgdf{)F ?= 2,00,000.−

4  ;tf/ hfg] af^f] / nK;] ^«\ofs lgdf{)f ?= 3,00,000.−

5  cl;d'/] au/ kmf+^ l;+rfO{ ?= 3,00,000.−

6  ^' '̂~ k|f=lj= sDkfp)* jfn lgdf{)f ?= 2,00,000.−

7   LED TV vl/b -j*f leqsf ljBfnox?df Audio Vedio sIff ;+rfng_ ?= 2,00,000.−

8  ^' '̂~, l/dfn *F+*F, k|e'*F+*F blnt pTyfg sfo{qmd ?= 2,50,000.−

9  ^' '̂~ cf+krf}/ *F+*Fufp+ tdf~ pTyfg sfo{qmd ?= 3,00,000.−

10  l;/fg rf}tf/f b]lv bf]efg df]^/ af^f] :t/pGgtL ?= 4,00,000.−



11  vx/] bf]efg v]tsf] klx/f] lgoGq)f ?= 1,00,000.−

12  afx|d'/] vfN ]̂ kmf+^ l;+rfO{ dd{t ?= 1,00,000.−

13  ;fg] vf]nf d'xfg u/L #§]vf]nf l;dv]t l;+rfO{ ?= 1,00,000.−

14  vfg]kfgL kfO{k vl/b ?= 2,00,000.−

15 k}/] vf]nf d'xfg /Ldfn *F*F l;+rfO{ ?= 2,00,000.−

16  bf]v'{ a'b'g] l;+rfO{ dd{t ?= 3,00,000.−

17  k|wfgdGqL /f]huf/ sfo{qmd -nfut ;f´]bf/L_ ?= 5,00,000.−

18  If]qkfn dlGb/ %]pdf klSs gfnL tyf (nfg ?= 1,50,000.−

19  u'O{P vf]Nrf l;+rfO{ of]hgf dd{t ?= 2,00,000.−

hDdf /sd ?= 50,00,000.−

j*F g+= 4 

qm=; of]hgf ljj/)f /sd

1 #§] vf]nf d'xfgu/L df´^f]n af;kfgL l;+rfO{ kfOk vl/b tyf O{G ]̂s lgdf{)f ?= 10,00,000.−

2 ljBfno z}lIfs ;fdfu|L ljt/)F sfo{qmd ?= 4,00,000.−

3 k+rsGof cfwf/e't ljBfno sfpn] nfO{ sDKo'^/ / lk|G^/ vl/b ?= 2,00,000.−

4 vfg]kfgL kfO{k vl/b ?= 5,00,000.−

5 afx|lj;] (F+*] ;fd'bflos ejg lgdf{)F ?= 7,00,000.−

6 ;ftlj;] lzj dlGb/ lgdf{)F ?= 3,00,000.−

7 #§] vf]nf d'xfgu/L cdn] / ;ftlj;] afn'jf kmf+^ l;+rfO{ dd{t ?= 5,00,000.−

8 rqmb]jL dlGb/ tyf u'Daf kfl^ dd{t ?= 3,00,000.−

9 j*f g+= 4 leqsf ;Dk')f{ af^f]x? ;/;kmfO{ ?= 5,00,000.−

10 d}bfg ^f]n dlxnf ;d'xsf] nflu kmlg{r/ vl/b ?= 1,00,000.−



11 ;fljs j*f g+= 6 / 7 sf] nfld%fg] ^f]n hfg] af^f] d]l;g/L jfn ?= 5,00,000.−

hDdf /sd ?= 50,00,000.−

j*F g+= 5 

qm=; of]hgf ljj/)f /sd

1  lj!fg df=lj= jfn lgdf{)F ?= 2,00,000.−

2  nf]s]Zj/ dlGb/ lgdf{)F ?= 3,00,000.−

3  :of~r]t Uofljg jfn lgdf{)F ?= 5,00,000.−

4  /ftf] kx/f] af]xf]/] ;*s jfn lgdf{)F tyf u|j]n ?= 5,00,000.−

5  zx/] rf}tf/f / dlGb/ lgdf{)F ?= 3,00,000.−

6  rfkfgL vf]Nrf x'+b} cdf/] ;l&of ;*s dd{t ?= 3,00,000.−

7  Rofg *F+*F b]p/fnL ;*s lgdf)f{ -gfln, shj], u|fj]n ;Sg]_ ?= 2,00,000.−

8  s'jfkfgL x'+b} vs{ ;Dd ;*s dd{t ?= 2,00,000.−

9  h]i& gful/s k|ltIffno lgdf{)f af]xf]/] rf}tf/f ;d]t ?= 2,00,000.−

10  an]{ x'+b} cf+k|x ahf/ uf]/]^f] af^f] lgdf{)F ?= 2,00,000.−

11  s'v'/] d'xfg u/L af]xf]/] aGr/] cfTdf/f l;+rfO{ dd{t ?= 4,00,000.−

12  kmnkm'n af]^lj?jfx? v/Lb Pj+ ljt/)F ?= 1,00,000.−

13  l;+rfO{ tyf vfg]kfgL kfO{k vl/b ?= 1,00,000.−

14  cdf/] Kjf~/f~ ;*s lgdf{)f -kSsL gfln ;lxt :t/pGgtL_ ?= 4,00,000.−

15  s '̂Gh] vfg]kfgL of]hgf dd{t ?= 2,00,000.−

16  sflndf^L vfg]kfgL dd{t ?= 1,00,000.−

17 j*F g+= 5 sf ;Dk')F{ af^f] ;/;kmfO{ ?= 3,50,000.−

18 sfkmnaf]^ cdf/] vfg]kfgL lgdf{)f ?= 1,00,000.−



19 ;'Gwf/f %}l/g l;+rfO{ dd{t ?= 1,00,000.−

20 ;l&of vfg]kfgL dd{t ?= 1,50,000.−

21 e¥of~ *F+*F vfg]kfgL dd{t ?= 1,00,000.−

hDdf /sd ?= 50,00,000.−

j*F g+= 6

qm=;  of]hgf lj//)f /sd

1  ls/f+t]:j/ ;xsf/L dfkm{t s[ifsx?nfO{ dn cg'bfg ?= 5,00,000.−

2  *F] ]̂na]lz lzj dlGb/ lgdf{)f ?= 3,00,000.−

3  kf}jfyf]s ;j bfx u[x lgdf{)F ?= 5,00,000.−

4  &'nf] v]tsf] &f*f] l;d lty{sf] v]tdf l;+rfO{ \̂of~\sL lgdf{)F ?= 5,00,000.−

5  j*f g+= 6 leqsf] df]^/ af^f] ;/;kmfO{ ?= 3,00,000.−

6  tNnf] :of~r]t u}/Lufp+ ;*s :t/pGgtL ?= 3,00,000.−

7  u}/Lufp+ d/)f kfl^ jfn tyf rf}tf/f lgdf{)F ?= 2,00,000.−

8  cfn*F*F uf]/]^F] af^F] lgdf{)F ?= 2,00,000.−

9  afuvf]/ lzjdlGb/, #f^Fb]jL dlGb/ / kfs{ lgdf{)F ?= 3,00,000.−

10  h'u]kfgL d'n ;+/If)f -(sfn ^F]n_ ?= 1,00,000.−

11  bf/] uf}+*f df]^/af^f] lgdf{)F -d]l;g/L jfn_ ?= 2,00,000.−

12  h'+u]kfgL vfg]kfgL lgdf{)f kf}jfyf]s ?= 1,50,000.−

13  uf}/~ ^f]n / xl;{g rf}/ uf]/]^f] af^f] ?= 3,00,000.−

14  *F] ]̂na]lz Gof}kfg] *F+*F x'+b} (sfn s'nf] lgdf{)f ?= 2,50,000.−

15  :of~tfg ^f]n klx/f] lgoGq)F ?= 3,00,000.−

16  uxt] lznfe'ld dlGb/ lgdf{)F   ?= 1,00,000.−



17  Pn=O{=l*= l^=eL= v/Lb -ljBfnox?df Audio Vedio sIff ;+rfng_ ?= 1,00,000.−

18  kfO{k vl/b ?= 3,00,000.−

19  ljBfnox?sf] nflu : ]̂zg/L ;fdfgx? ljt/)f ?= 1,00,000.−

hDdf /sd ?= 50,00,000.−


